Sr Questions Answers Choice
A. Profit
1 If the sale price is greater then cost price then we get CB: tlg‘t:slng
D. None
A 1:31:4
2 The lowest form of 21000:42000 B. 1:2
C.15
A.CNCQCz
3 Which Sequence is Correct? g ﬁg\';lv%vzvgé
D.QCZCNCW
A 121
: B. 144
4 L.C.M.of 72,48,is c. 12
D. 169
5 Question Image |
A3
6 Natural number along with .............. called whole numebr g (2)
D.1
A 1.4
e . . B. 1.45
7 Significiant Figures of 1.388889 is C. 138
D. 1.3898
A. 3900
— . B. 4000
8 One significant figures of 3925 is C. 3100

D. 3800



